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1 Scientists mapped the locations of four species of tree in a forest in Malaysia. Each tree used
a different method of seed dispersal. One attracted animals to its branches to eat its fruits,
another had seed pods that dried up and flung the seeds into the air. Another tree had fruits
that fell to the ground and either rolled away or were moved by animals digging in the earth or
eating the fruits. Another had seeds with wings like a helicopter, which fluttered to the ground.
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b Suggest which method of seed dispersal is the best. Explain your reasoning.
(To answer this question, you first need to define what you mean by ‘best’.)
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Explain your reasoning. Dispersal method

d Suggest a habitat in which this method of seed dispersal may not be the most successful.
Explain your reasoning.

2 Seedless fruits are very popular, and some are made by hybridising different types of plants.
For example, seedless watermelons are produced by breeding a D watermelon with a
T watermelon. The fruits produced contain small white flecks but no large black seeds.

a Describe what happens after pollination of watermelon T flowers with watermelon D pollen.
b Suggest why seeds fail to form but the fruits do.

|l can...

e evaluate seed dispersal methods

e describe the formation of seeds and fruits.
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